29006_A FHEMEI T BHEEL , AR

7= miiEA

M
AT EENREM,

I
Z B IAIE,

BEEXR
- BB M A HE 29050

R4 -
BETHM 1.4308,
B A K142 1SO 4762 MAAER 1ISO 4032 , NN,

®
A
T —— '
| ~\|
Q —---|—i—|-—-—| -—\—-—/li a @ a.
__*I;_ ;
M
K
C
P g% i )
g
~\ |
“J T
S [ G
R
L

29006-11212 A 12,1 12,1 30,5 25 | 32| 35 55,5 65,5 43 | 23 49,5 M6x18
29006-11414 A 14,1 14,1 30,5 25| 32| 35 55,5 65,5 43 | 23 49,5 M6x18
29006-11616 A 16,1 16,1 30,5 25 | 32 | 35 55,5 65,5 43 | 23 49,5 M6x18
29006-11818 A 18,1 18,1 30,5 25 | 32| 35 55,5 65,5 43 | 23 49,5 M6x18
29006-12020 A 20,1 20,1 30,5 25|32 | 35 55,5 65,5 43 | 23 49,5 M6x18

© norelem www.norelem.com



20006_A R4S T BpEiEl AR

© norelem www.norelem.com



